Warm-Up

i
CST: Grade 4 AF 2.1 N Review: Grade 3 AF 1.2
The letters S and T stand for numbers. What is the smallest whole number that will
IfS—100 =T - 100, which statement is true? make this number sentence true?
6x9<3x[]
A S=T
B S>T
C S=T+100 Find a value that would make 619>31 D
D S>T+100
Find a value that would make 619=31 D
*IfS-100 =T, which statement would be
true? Justify your answer.
<
Current: Grade 5 NS 1.3 Other: Grade 4 NS 1.2
Given

Choose the best symbol for each
= (3x10°) +(7x10?) + (6 x10') comparison.

k =(7x10%)+(5x10")+(2x10°)

a. 103.25 Q 13025 < = >
Which statement is true? b. 78.5 Q 78500 < = >
. 12.37 1237 < = >
A j=k ¢ O
B j<k d. 4909 () 4899 < = >
C j>k

* What else do you know about j and k?
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Notice 24 equals 24 and 41 equals 41. That leaves 25 on the left and 36 on the right to be

compared.
|
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